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B. Com, (Pass Course) 2nd Semester
Examination — May, 2019

BUSINESS MATHEMATICS - i
Paper : 2.02

Q

Q
Time : Three hours | Sg\_ [ Muximum Marks : 80

Before answering the qi.‘c.\'Hwb%famﬁdurm' should ensure that
they have been .vuppﬁr%@?e correct and complete question
paper. No complaint %Qum- régard. will be entertamed after
examination.
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Note : Attempt five questions in all, sclecting one question
from cach Scction. Question No, 9 (Section - V) is
compulsory. All questions carry equal marks.
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1. (a) Find the

x
matrix A = x

X

SECTION - |
grg - |
values of =xyz if the
2y  z
y -z satisfy thelaw A'A=1.8
_y .

X, ¥y, z @ WA T AU IR e

x 2y oz
A=|x y -z| @0 AA=I® R AT B
X -y oz
(b) Prove that : 8
a a®> b+c
b b c+al=(b-c){c-a)(a-b)la+b+c)
¢ ¢? a+b
ferg Afdre s -
a a> b+c
b b2 c+al|=(b-c)(c-a)(a-b)(a+b+c)
¢ ¢ a+b
21 3
2. (a) ForA=|3 1 2|, verify the theorem.
123
A. (adjA)=(adj. A) . A=|A]]; 8
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3. (a)

21342

2 1 3

A=13 1 2| 2q U9 A.(adj A) = (adj A) - A.
12 3

= A3 &1 FAHA HIRAY |

By using elementary row transformations, find the

[ 1 -2 3
inverse of the matnx A={ 0 -1 4]. 8
L-z 2 1
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SECTION=1I
HrE - |l

Write down the derivative of the following
functions : https://www.haryanapapers.com4 + 4

@ ¥
1+4x
Giy yleviex?
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1+J;

(i) V1+v1+x2

(3) P.T.O.
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(b)

4. (a)

(®)

5. (a)

(b)

Find dy/dx if y=x¥". 8

dy/dx sma diforg, afe y- P
1 X

Prove that the maximum value of [—J isel’t. 8
X

&1 aifdrmean A o1/ B

e a2

Show that the rectangle of maximum area, that can
be inscribed in a circle of radius r is a squarc of

side ¥2 7. 8

fearer 6 ofdedd gema & 3 R Bren
rd ga A Ifada R o1 |@ar 8, Yo J2r
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SECTION - Il
gue -l

A sum of money invested at compound interest
amounts of Rs. 2200 in one year and to Rs. 2662
in three years. Find the principal and the rate
percent. 8

amafyg @ W Faw @ a8 el ge ad A
Bo 2200 Bl & den i af § Bo 2,662 EX 7|
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Find the normal rate of interest when interest 1s
payable half-yearly which is cquivalent to the
effective rate of intcrest 6.14% per annum. 8

(4)
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6.

7.

{a)

(b)

(a)

21

el ) w R gy @ s eifaig ol
ydafie & o vId @rw e 6.14% ufdad
aH R %1

Find the present valuc of an annuity due
Rs. 1000 per annum for 14 years allowing inte
al 9% p. a.

'

9%, ufad w @nd @ Wi 14 98i.d
Fo 1000 ufoad @ u aiffe) & ada gl
g1 it |

A man borrows Rs. 6.6 lfﬂ’i\% the rat¢ of interest §
p. a compounded inuously and promiscs
pay off the loan i annual installments. Find §
amount ol caclrinnual wstiment.
ver @ifdd :&gf& a1l U o 6,000 6% Uil
et widad sl @l ey IR QUR eldl @
aiffep fabeel 3 301 gadl st &1 dusl

yg e fgg @1 gaxfdt &1 s #feg |
SECTION - IV
qus -1V

Solve for x :

—
'R v'.a" 2ax
i mrz 2ax

& f;’.\*‘IQ g @ifery

b

3
a+ya© - 2ax

it -..u'er2 2ax

(5) P,
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[ a,b,c and d arc in continued proportion, prove

that “T‘ L'}J - d‘:lz + ({f L')z ---{tl‘-- 1]’}:1_ 8
A ab,c UE d AWER T Y 8 i Rig
BT BB (- c(c—a) +(d-c)* =(a—d)* |

Ajit Singh bought two old scooters for Rs. 9.000.
By sclling onc at a profit of 25% and the other at a
loss of 20%., he neither gains nor losses. Find the

cost price of cach scooter. 8

ol Rig 51 Bo 9,000 ¥ @1 YRIT ¥Hex WA |
U Y 25% B AP UR AT gER @ 20% & &
W dady, d¢ q d @™ g & 9 2 ude
{hdR BT AT T S ST |

I'he price of a commodity is increased by 60%. By
what  percent must a  consumer  reduce  the
consumption of the commodity so as not 1o

icrease the expenditure ? 8

v appElt @ Bma 60% dF gedl B Ud
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(6)
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SECTION -V
gvg -V

3 2 10
9. (a) Fim:lx,ify:[1 4] and 2x+y=[_3 2]

3 2
x @ @fee, gl y=t1 4]
2r+y [ 1 0]
X+ =
-3 2
S
S\
¢
(b) Find the valuc @
x=1(l4. =
|§3 x+Zl 1 3
x+1 x-1 4 ri
x-3 x+ “ho3

2
- 1 &y
(cy If y—(J;+?x-) , find ol

x &1 7E g afore, afd

[J_+T) Ezﬁiﬁﬂﬁﬁﬂt! |

(d) Determine two positive numbers whose sum is
and sum of whosc squar¢es is minimum.

(7) . P.T.
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Vind the clfective rate of interest 6% p. a.
~ pompounded continuously. (logfg — 0.4343),

o AfStd st 6% ufdad @ gurd) gv @

g I (loghy - 0.4343) |

I the population of a town decresses 6.23%

wnrually and the present population 1s 20,480,000,

“lind its population after three years,

N ava @) o 6.25% wffe ged @ aur

b o e 20480000 & @) J @ are
U R i e |

I (v + 1) (v 7) is the triplicate ratio of 3 ¢ 4. find

“ihe value of v
“ (viD:(x e 7) 304 b gAEEd 2 oy @l

W sna ey |

Bhow  that  a,b,e,d arc in  proportion if

Wi Thohe  7da6a 7hi6e-7d.

frangy b abcd wgma A § Al
B o Tdeoa-T7hi6c-Td . 2=8=16

(8)
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